PNP SILICON

9015

TRANSISTOR

4 100mm

C035B3-00

240+20um

350x350pm 2

B 12150um? E  16180pm?

SS9015 H9015
B T=25 TO-92
Tog—— ~55~150
T— 150
Pe—— 450mwW
Vego — -50V
Vceo — 45V
Vego—— — -5V
l—o -150mA
| | T.=25 TO-92
lceo — 005 | pA |Ve=-30V I1g=0
leBo — -0.05 MA | Ve=-5V Ic=0
hee 60 800 Vee=-5V  lc=-1mA
Vce(sat — 0.7 V| 1c=-100mA Ig=-5mA
Vge(sat) — -1.0 V| 1c=-100mA Ig=-5mA
BVcso — .50 V | Ic=-100pA [g=0
BV ceo — 45 V| lc=1mA 15=0
BVeso — 5 V | 1g=-100uA 1c=0
fr 100 MHz | Vee=-5V  lc=-10mA




